Allen's Segments

Time limit: 0.6s  Memory limit: 64M

Credit to AQT for tweaking the problem to be harder.

Dormi is having trouble with his Latin homework. Since he wants to study for his summatives, he has translated the
problem and entrusted you with this task instead.

He has given you N segments. Segment i covers the interval (L;, R;) and has a value V;. We say that segment ¢ covers
segment j if every point in j is inside segment 7, and this would still hold true if segment j were shifted to the left or to
the right by 0.5. These IV segments are special - if two segments share a point, then the larger segment covers the
smaller segment.

He gives you @ queries in the form of ' a b . For each query, find the ID of the segment with lowest value that covers

both segments a and b. If there are no such segments, output -1 .

If there is more than one segment that covers a and b of the same value, output the one of smallest length.

Please help Dormi solve this problem!

Input Specification
A single integer N (1 < N < 10°), followed by N lines in the form L; R; V; (1 < L; < R; < 10%) (1 < V; < 109).

The next line will contain a single integer Q (1 < @ < 10°), followed by @ queries in the form 'a b .

Output Specification

lines, the answer to the " query.
query

Sample Input 1

32
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53
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Sample Output 1
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